MTH 204 Name: Ke \If

Fall 2008
Exam 3 Section: A or C (circle one)

Sechions AR C

Read the directions carefully.
Write neatly in pencil and show all your work
(you will only receive credit for what you put on your paper).
Please do not share calculators during the test.
Each question is worth 20 points.
DO NO USE decimals on any intermediate step.
The last page contains your Laplace tables.
If you have trouble during the test, feel free to ask me for help.
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2. Consider the IVP ¢ — 2y +y =5(t - 3), %(0)=0,/(0) =1

A. Solve the IVP.
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B. Evaluate the following.
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4. Solve the IVP X' = ~1x, x(0)=| |
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Bonus (10 points): The matrix exponential, e#, can be found using the equation
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et = £ {(sI — A)~'}. Compute e for the matrix A = . What is the relation-
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ship between et and the homogeneous system x’ = Ax?
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